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Political Science

Paper 1II

RSEIGIRCEIE
gyarent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U TR Wl U dredl

AT ¢ A YIAehd THYT WM (100) sgUar 799 fooel ofed. Ucieh Ueeen g (2)

Which of the following description
does not fit the concept of
‘Multiculturalism’ ?

(A) Salad Bowl

(B) Cultural Mosaic

(C) Melting Pot

(D) Homogeneous Society

Who among the following argued
that ‘Man is working species’ ?

(A) Babeuf
(B) Karl Marx
(C) Hegel

(D) Gramsci

Who among the following argued
that ‘Power is repressive’ ?

(A) Gramsci
(B) Karl Marx
(C) Hegel

(D) Foucault

EATeeh! ShioTd faRTooT Sgeeahdieg o
Hheq Tl S[ead AT ?
(A) ¥de o

(B) he=Xel Higeh

(C) #fean dfe

(D) THEY FHS
TTEHTeTeh! ShIoT ST AL FSiw’
3T Jfaarg Aead ?

(A) 9]

(B) Tl AR

(C) &

(D) Tl

TeAedeh! i ‘T & SHThRRT 3Ted’

391 gfrare AeaE ?
(A) umweit

(B) Tl AR

(C) ¥a

(D) eI
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What is the source of Marx’s famous
statement that “The History of all
hitherto existing societies is the
history of class struggle” ?

(A) The Civil War in France
(B) On the Jewish Question
(C) Manifesto of Communist Party

(D) Contribution to a Critique of
Political Economy

Which variant of liberalism
espouses sympathetic consideration
of cultural differences, group rights
and majority-minority relations as
its core values ?

(A) Multiculturalism
(B) Classical liberalism
(C) Communitarianism
(D) Libertarianism

Give the correct answer to the
statement below :

Post-modernist typically argued
that ........

(A) ‘Universalist’ narratives which
attempt to explain the world
are invariably false.

(B) The world 1is socially
constructed in a variety of
ways.

(C) Differences of viewpoints should
be celebrated not deplored

(D) All of the above

JUN - 15219/1I—A

" ATl AR, TSI o e
sfag@ omR’ a1 W= faummEn Ea
IO 3G ?

(A) T fofesd sk =1 %

(B) M § Y FATSH

(C) %Rl Ak HRfe el

(D) &g T 31 Hifeh ATH
qifeafeshel gehlrHl

gREid  gae AT ATIHTATH -
SgHEATRIT HAH 8 el

HEYfdge® AT iUl ISRATATGET
TRR ol ?

(A) “EEEpER

(B) AMSTd ISR

(C) HHIHE]

(D) SRHATAR]

Tefe fagm= dra W9

S-Sy fTehdreear=a wd
(A) ST TYSEIeRTl QUK Afvaeh e

U 3TH 3THdId.

(B) < & fafay yeRHET AmISehgsed]
EENGECER

(C) gfcammdia dfaw el =&
aTe, Tomerroa=l R

(D) ={a &6




Which of the following pairs is
correct ?

(A) Conservatism — Anti-social
change

(B) Conservatism — Anti-authority

(C) Conservatism — Anti-organic
society

(D) Conservatism — Anti-tradition

Match List I with List IT and select
the correct answer from the codes
given below :

List I

(@) T.H. Marshall

(b) Thomas Paine

(¢c) James Madison

(d) Samuel Smiles
List II

(1) The Rights of Man

(2) Advocated the concept of
enterprise, hardwork and self-
reliance

(3) Citizenship and social class

(4) Advanced
republicanism

Codes :

(@ ®) (@ ()
A O @ O @
B @ 2 @O @
< 6 O @ @
D 2 @ B @

constitutional
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TTetedehl IO SISl SR o]

AR ?

(A) frgfgare — i sga foaly
(B) feafdare — eAforrene foliy

(C) frufqar — Sfaw w@e fady
(D) feafqae — AU foly

It 1 2 At 11 2 Seeen mfor amd
S hIe (Fha-gdr) 7y Faer .

et 1
(@) 3.T=. ARTA
(b) ofF| T
(c) ¥ HEEH
(d) Iz TEed
Trar 11
(1) T TEH A® 1A
(2) SISO, IRIAERT TR S

IR A HeheuAdl [IERR

el
(3) fadteriu sfs IR T
(4) T USHAeh  HSAER
HE (Feha-ge) :
(@ ®) @© (@@
A O @ 3 @
B @ 2 @O 3
< 3 1 @ @
O 2 @ & @
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Give the correct answer by using the

codes given below :
Assertion (A) :

The economic theory of the
‘Philosophical Radicals’ was directed
from the start, towards the practical
purpose of freeing commerce from

the restrictions.
Reason (R) :

The general outline of utilitarian
thinking was announced in
Bentham’s earliest work, ‘The

Fragment of Government’.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

JUN - 15219/1I—A

Tehdleh aTqe" AT I fogr

fagam™ A)

frargiithera deshed’ a1 e aAfeie

g1 eI SHT9R Hekd Hudr=Al

SHeeleh 3fese URd Sen Bl

0T (R) :

SUeRdTeereA foramr=ht Arevf sigm=A

qeadr=a hakd ‘g BIHey A®
TTegHe’ A1 IRt WfauTied el g

K3 K3
-
.

(A) ST (A) Tf0T (R) sRIsR 31Ted, 107

(R) ® (A) ° Te TICHI0 3T

(B) <&l (A) 7T (R) SRR 37ed, W
(R) % (A) = sRIeR TR0 ATEL

(C) (A) s 38, WG (R) I 3T

D) (A) F& 318, g (R) TR g




10. Match List I with List IT and select

the correct answer from the codes

given below :

(@)
)
()
(d)

(1)
(2)

3)

4)

List I (Ideologies)
Liberalism
Conservatism
Socialism
Ecologism

List II (Core Values)
Holism, anti-anthropocentrism

Community, equality, labourism,

cooperation

Tradition, organic society,

hierarchy, property

Freedom, justice, reason,

toleration

Codes :

A @
B) )
©) @

D) @)

(@ ) © @

4) (2 @3

2 @ @

o 6 @

3 @ @
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10. It I 2 =t 11 3 Jesan 3Tfor Hehd-

T IR HEA I IH A

(@)

®)

(c)

(d)

(D)

(2)

3)

(4)

e 1 (feemwuTet)
IRHATIE

wed

REISEI

TRgfear
et I (M Hod)

HYUAER, Aok s folie

TS, THI, SHAG, HEhR

Y, Sfereh AN, IdE, HITH!

@A, =™, fade, [fes

Hea-ge

A D

B) 3)

€ 2

D) 4)

(@ ) (© @

4) @) O

2 @ @

1 G @

@) @ @

[P.T.O.



11.

12.

13.

14.

Who is the author of the book ‘Prison
Notebooks’ ?

(A) Franz Fanon
(B) Karl Marx

(C) Antonio Gramsci
(D) V.I. Lenin

Who among the following wrote the
book ‘Wretched of the Earth’ ?

(A) Karl Marx

(B) Lenin

(C) Franz Fanon
(D) Hannah Arendt

The negative theory of liberty was
advocated by :

(A) John Stuart Mill

(B) T.H. Green

(C) Isaih Berlin

(D) Karl Popper

Which one of the following thinkers

stressed the productive dimension of

power ?

(A) Foucault
(B) Mill

(C) Marx
(D) Lasswell

11.

12.

13.

14.

JUN - 15219/11—A
‘fier s’ A1 T e hIv ?
(A) HE HT
(B) et TIeRd
(C) siaifeh Tmeft
(D) =feHR gfer= A
TRt Ho ‘TE Sffw g e’ ¥
q&ie fetfeed ?
(A) e T
(B)
(C) &l ®T
(D) BT 3Me

TRRIHE T g
I TS

(A) 51 w3 fia

(B) d.w=. U

(C) F9m® dfelq

(D) w& 9T

ETeTeldeh] vl faaRade =

IARH qRATER. WX fen ?
(A) T

(B) e

(C) @

(D) wEE




15.

16.

17.

Who among the following used the
expression ‘forced to be free’ in
connection with the notion of liberty

of the individual ?
(A) Rousseau

(B) Locke

(C) Green

(D) Hobhouse

Who among the following said that
democracy can become ‘tyranny of

the majority’ ?

(A) J. Rousseau
(B) De Tocqueville
(C) J.S. Mill

(D) James Madison

Who argued that ‘life, liberty and
property’ are inalienable rights of

men ?

(A) Aristotle
(B) Rousseau
(C) Hobbes

(D) Locke

15.

16.

17.
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TETAd ST HITH sAfeqaeaTd AT
Geheq = SeHid  S=TETe! Seew’
B W HAM e ?

(A) &4

(B) @k

(C) UM

(D) ‘"

TATATh! ST ST el AR hI
AHIME & TgEEAR THANME &I
IR ?

(A) S &A@

(B) € <fehfra
(C) Swg. faa
(D) S HEEH

S, @A ot §uit § fetegd A
AT JUR AEATE §Fh Ted, 3T iUl
WA ?

(A) =l
(B) &4

(C) @lsst

(D) ek
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18.

19.

20.

21.

The term Legitimation crisis is most
associated with :

(A) Gramsci

(B) Foucault
(C) Habermas
(D) Lenin

From whom does Marx borrow but
fundamentally modify his dialectic
method ?

(A) Kant

(B) Hegel

(C) Adam Smith

(D) Ludewig Feuerbach

Who described freedom as the
‘silence of the laws’ ?

(A) Isaiah Berlin
(B) Thomas Hobbes
(C) Milton Friedman
(D) J.S. Mill

The historic ‘Quit India’ resolution

was passed under Mahatma

Gandhi’s leadership at Gowalia
Tank median in the city of :

(A) Kolkata
(B) Chennai
(C) Lucknow
(D) Mumbai

18.

19.

20.

21.

JUN - 15219/11—A
‘arfermrraen TEwET @ HE g
ol frfed eme ?
(A) T
(B) e
(C) =eH™
(D) <A
TR ShIUTh ST I TGl SHTehTed
M qad JRaA el ?
(A) e
(B) &
(C) 3few femy

(D) Sfor wiaReme]

I ST 0 hrEea™ 191 3
Hel 3ME ?

(A) EMN St
(B) ofHq =l
(C) foeed fremA
(D) wuw. fow

TRl = Agamene e Sh
e Uaeries ¢ TRa Sret’ 3 hive

IR WA el ?
(A) ST

(B) ==

(C) =&

D) T
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22.

23.

24.

Who was the revolutionary Marxist
leader with whom M.N. Roy had
a prolonged political debate in
1919-1920 ?

(A) Karl Marx

(B) V.I. Lenin

(C) Joseph Stalin
(D) Mao Tse Tung

Who among the following
personalities established the
organisation ‘Abhinav Bharat’ ?

(A) B.G. Tilak

(B) M.K. Gandhi

(C) Rabindranath Tagore
(D) V.D. Savarkar

Which of the following were the
tenents of Jayprakash Narayan’s
concept of Communitarian
Democracy ?

(@) Decentralised political economy
(b) Competitiveness

(¢) Deliberate process of devolution
(d) Harmonization of interest

Choose the answer from the
following codes :

(A) (), (o), (d)
(B) (@), (®), (0)
©) (@), (o), (d)
D) (a), (), (d)

22.

23.

24.

JUN - 15219/11—A

oY T T 1919-1920 T HI0e
FHifdehReh HERIaREH eRIsR TSiehid ==t
Hell ?

(A) =T A

(B) =feHR sfer= of
(C) S® e

(D) W & T

TTeiTel Seten! * e yRa’ € g
U O el ?

(A) e TMeR fowseh

(B) W.&. e

(C) ey 2riR

(D) fag. dEweRt

WA IV STAYHTRT TR0 FeT
' GHETEETE] AhRTE A Hehead  Ue]
B ?

(@) Tofsa Uspia stefeqasen

(b) THfcHRAl

(c) TRYH | STERH Ufehal

(d) feqwser=n T

Tred! feeten Eﬁ@q%ﬁ I feren
(A) (b), (c), (d)

(B) (a), ), (c)

(C) (a), (o), (d)

(D) (a), (b), (d)

11
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25.

26.

27.

Which one of the following is not

separatist movement ?
(A) JKLF

(B) ULFA

(C) PLA

(D) Naxalism

Who the

among following

launched Kalaram Mandir Entry

Satyagraha ?

(A) Mahatma Gandhi
(B) Vinoba Bhave

(C) Dr. B.R. Ambedkar
(D) J.P. Narayan

Which one of the following is the

characteristic of post-behaviourism ?
(A) Quantification

(B) Relevance

(C) Value free

(D) Pure science

25.

26.

27.

JUN - 15219/1I—A

TTeAeTdsh! IV |HIRATER] Hc3aos
w2
(A) 9. TA.TH

(B) Sl
(C) WAL

(D) AA&Iae

a LTa

EATCTUeh! UM ShIcoNH HieT JaIsT TR

>

& whell ?

(A) e et
(B) faden w1
(C) . .1 sTosH

(D) SIYRRT AR

WATeTYeh! hIU SR R STy
e ?

(A) afHTIH
(B) 39geadn
(C) eafruagan
(D) fags v
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28.

29.

30.

With which of the following
organizations Periyar E.V.
Ramsamy was associated ?

(@) Self-Respect Movement
(b) dJustice Party

(¢) Dravidar Kazhagam
(d) Home-rule Movement

Choose your answer from the
following codes :

Codes :

(A) (@), (c), (d)

(B) (), (c), (d)

(C) (@), (B), (c)

(D) (@), (b), (d)

Agganna Sutta is in which text ?
(A) Digha Nikaya

(B) Tripitika

(C) Vinaya Pitaka

(D) Dhammapada

In Buddhist literature what is
‘Sutta’ ?

(A) Dialogue between Buddha and
Sanjaya

(B) Discourse imparted by the
Buddha to two Brahmins :
Bharadvaja and Vasistha

(C) Dialogue between Sariputta and
Assaji

(D) Discourse between Anuruddha
and Katyayana

28.

29.

30.

JUN - 15219/11—A

ETATIUehT shIvTca] FEETERIsN YR ¢.

. THEH Fefed B ?
(@) 3SATCH-GHM Tddcs
(b) SIEE 9y

() SR hoed

(d) TH-TA weFdB

[ LN

Erelt feeiean gEiqa g s feren .

gt

(A) (a), (c), (d)

(B) (b)), (0), (@)

(C) (@), (b), (c)

(D) (a), (b), (d)

3 Y HIV TNid FHIOS 38 ?

A) feaftem

(B) ffyesr

(C) forafyes

(D) =Y

dg Wifeera ‘gu' WUS HE SR ?

(A) Jg iU GsF ArAdia Folg

(B) wRgrS! 311 =If¥res A1 S STt
dig™ el ==t

(C) TR 77 TETSi Ar=amdiel Hag

(D) 3TI%S M0 T Ir=AMLA ==
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31.

32.

33.

34.

Which imperialist country had

maximum number of colonies ?
(A) Great Britain

(B) France

(C) Portugal

(D) Holland

Which leader of anti-colonial
struggle served as President of
Zambia from 1964 to 1991 ?

(A) Kenneth Kaunda
(B) Harry Nkumbula
(C) dJulius Nyerere
(D) Robert Mugabe

Who among the following leaders
was not associated with anti-colonial
struggle ?

(A) Mahatma Gandhi
(B) Kenneth Kaunda
(C) Harry Nkumbula
(D) Daniel Lisulo

Identify the non-democratic regimes
from the following :

(A) Switzerland
(B) Australia
(C) Cuba

(D) Denmark

31.

32.

33.

34.
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STV HHSTAE] ST Gaifeeh Samedt
B ?

(A) Fe foed
(B) rH

(C) drdma

(D) @fefs

guTeddare fatiel Ioasid gy

ST SHIVT AJea™ SHferaTe Tsreel

RUE 1964 4 1991 W & Hal ?
(A) &9 Hiel

(B) &0 TRdel
(C) Fferad AW
(D) TR T

FHRdae folid) Sae Wieiielish! hivld
IgE TR eEd ?

(A) A Tieh

(B) &A™ wiel

(C) & Then

(D) <fera fage

TCATAUsh! TR-GIRIE TSTae SiIeel
(A) s

(B) atefern

(C) =g=n
(D) STHTh
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35.

36.

37.

In which of the following developing
countries transition from democracy
to consolidated democracy can be

witnessed ?

(A) Kenya

(B) India

(C) Uruguway

(D) Pakistan

Choose the incorrect statement :

(A) New social movements focus on

issues related to human rights.

(B) Gay rights movement can be
considered as new social

movement.

(C) New social movement emerged
in mid 1960 i.e. in a post-

industrial economy.

(D) Animal
cannot be called new social

rights movement

movement as it is not related

to human rights.

Which among the following is not

new social movements ?
(A) Women’s movement
(B) Ecology movement
(C) Gay rights movements

(D) Peasant movement

35.

36.

317.

JUN - 15219/11—A

@Ik ShITT TSI AR IaIh e

o

q3e AIRIMRIRe HhHU Foiel e

I ?

(A) =t

(B) Yrd

(C) Sed

(D) wifers™
Tl wehrd faue sfiaan .

(A) 9 HHTTSIh Hedaadl HIel BaFhi=<A

JYTeR AL] higd HIdld.

TafATM TBadian Ad WIS
J2des UM Jsal.

(B)

9 GHISTh Tasdedl 1960 HEATER
wmuSE e eTefcgaed=a
AU ST AT

(®)

JIUAI=AT BHFh=AT IBIRBAT 9
qMTfSeh Tasacsl FEUIdl AR ATet
0T T AN BRI Heferd

ATl
TTeATeTIeh! hIVT Fdded 79 FddB
@ ?
(A) forr= Jz9a
(B) IRY Fedes
(C) FifiTerT= Faae

(D) YdH Tsas

(D)
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38.

39.

Which of the following political

systems has multiparty system ?
(A) USA

(B) Great Britain

(C) France

(D) Australia

Which is not the feature of

Schumpeter’s elite model of

participatory democracy ?

(A) Common people do not have
capacity to make intelligent

decisions in area of politics.

(B) In democracy the actual power
is in the hands of an elite

minority.

(®)

Democracy is competition

between elites and masses.

(D) In democracy the role of citizens
duty begins and ends with
selecting — via ballot box — the

individual or party.

38.

39.

JUN - 15219/1I—A

TCACTIeh! IV ITSTeh 19 eI Sgael
gl g ?

(A) J.TH.T

(B) U< foed

(C) w1 H

(D) e

TEUFT AAheEr=a STSams! Jeur

Iy A ?

(A) I TR TSRO R
fyofg SvgrR amar .

(B) TehIMEmed Togel TN 6l AeuHEd

ARSI BAE 2794

(C) <hh3mel Turel S ST &l
AT Tl 8.

(D) @ieRemEEEd AnTRRIET fHehT
AqUeIgR =erit fehen vetrel fae
0 3YT GE B M0 9= F.

16



40.

41.

Match List I with List IT and select
the correct answer from the codes
given below :

List I
(Z) Patrimonialism
(1)
((173)

(tv)

Majoritarianism
Bureaucratic authoritarianism
Military dictatorship

List II
Argentina between 1966-1973
Iraq during 1979 to 2003

(@)
®)

(¢) Czar during 12th century

to 1917
(d)
Codes :
(A) (i-0), (ii-d), (iti-a), (iv-b)
(B) (@-b), (ii-c), (iii-a), (iv-d)
(©) (-a), (ii-b), (ili—c), (Gv—d)
D) (), (ii—), (@ii-b), (iv-a)

Athenian democracy

Committee was
the
Government about Non-Scheduled

appointed for advising

Languages.

(A) Chandrashekhar Kambar
(B) Bhalachandra Nemade
(C) Sitakant Mahapatra

(D) Ashok Vajpayee

40.

41.
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I A R e s e
ST Gehd gEAI-wyA fae

qrer 1
() ST
(i) TEEHESAHAR
({17) ThIMEE TR IR
(iv) TTSRY GRHTME!

et 11
(@) 1966-1973 Tfie STSife
(b) 1979 d 2003 HHiA T
(©) 123 ¥sh T 1917 =l FRemE!
(d) STITUEA AR
Heha-geit
(A) (), (i-d), (Hi-a), (Tv-b)
(B) (@-b), (ii—c), (Gii-a), (Gv-d)
(©) (-a), (Gi-b), (ii-c), ((v—d)
D) (-d), (i-c), (Hi-db), ((v-a)

TSTaeEe I Hedl < UaTHIa!
HiHde=l 9 0T

(A) TSR FHaAR
(B) Y=g 9T

(C) HidTehid HETIEN

(D) 3 QTS

17
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43.

44.

45.

............................... accord was an
attempt to contain terrorism in
Punjab.

(A) Rajiv — Longowal
(B) Indira Gandhi — Bhindranwale
(C) Nehru — Laldenga
(D) Vajpayee — Badal

Who led the All Assam Students’
Movement against migration ?

(A) Prafulla Mahanta
(B) Hiteshwar Saikia
(C) Gopinath Bardoloi
(D) Tarun Gogoi

Frequent use or misuse of Article
........................ has caused rift in
Centre-State Relations.

(A) 352
(B) 360
(C) 356
(D) 32

Which of the following is not
correct ?

(A) Demolition of Babri Masjid
— 1992

(B) Announcement of LPG Policy
— 1991

(C) RTI Act — 2005

(D) Assassination of Indira Gandhi
— 1985

43.
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45.
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CRUIAAIG AT SATIUAIS! STl
(A) TSite — e

(B) sfew et — fiigamat

(C) T&& — TS

(D) IS — 9ed

A UM WEH JHaT=a Telial-
foieht =@ae™ A Wefiadeh! ol
Ha ?

(A) TRed Hed

(B) fedser Sfwan

(C) Ty sRTers

(D) T®9 T

ShcTHI=Al Hdd=Hl 14X
e TRETRes hg-T HagW[ 3[R
frafor o e
(A) 352
(B) 360
(C) 356
(D) 32
YEIcTUsh! IR SISl sRIeX A& 2
(A) IR TRIE 3IgEasd w0 — 1992
(B) @S ERUM= oo — 1991
(C) wfedt AfehR wTERT — 2005
(D) Efer i< s — 1985
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46. Reorganisation of states was done on | 46. UsgI=T ‘E{f[f%[:ﬂ """""""""""""""
the recommendations of ...................... SR RIGRRITER. w0 3T
Commission.

: (A) IS STl
(A) Fazal Ali
(B) Dar (B) =R
(C) Sarkaria (C) T
(D) Mandal (D) Hed

47. Which of the following is not a | 47. WIeicidesh! HIval gfas g A& ?

Dravidian Political Party ?
Y (A) sfre
(A) Dravida Kazhagam . N
) i (B) H&HANE SI9€ A hodelq

(B) Marumalarchi Dravida

Munnetra Kazhagam (C) ool e |iHdt
(C) Telangana Rashtra Samiti (D) STUUEH® T&
(D) All India Anna Dravida | 48 wrcfieient wivear s sifasesn

Munnetra Kazhagam 1B G SErSt §oe gera

48. Which of the following castes is not T ?
mobilised recently for seeking
reservation ? (A) SIe
(A) Jats (B) URRER
(B) Patidars (C) |
(C) Marathas (D) T
(D) Malis 4O, e & YRaT= P

49. is the new entrant YAl 99 9e °TR.
in the voting process in India.

NEEGRIEED]
(A) Ballot Paper .
(B) EVMs (B) |
(C) VVPATSs (C) =r=rde =
(D) Electoral Violence (D) Trereus =@ ffamn
19 [P.T.O.



50.

51.

52.

53.

The leader of the opposition in the
16th Lok Sabha was :

(A) Kamal Nath

(B) Mallikarjun Kharge
(C) Rahul Gandhi

(D) Gulam Nabi Azad

Which of the following is not a Union
Territory ?

(A) Mizoram

(B) Lakshadweep

(C) Andaman & Nicobar Islands
(D) Daman & Diu

Article 1 of the Indian Constitution

describes India as the :

(A) Territories of the States
(B) Union of State

(C) Indian Federation

(D) Confederation

The Joint Session of the Parliament
is chaired by the :

(A) Speaker of Lok Sabha

(B) Vice-President of India

(C) Chairman of the Rajya Sabha
(D) Prime Minister of India

50.

51.
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53.
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1651 ArRgydia faded gam= Aq

€ T

(A) hHATY

(B) wfcereptsd @
(C) Tgar el
(D) ™ Tl 3R

JEICTUh! SHIVMT M YT A&l ?
(A) frerH

(B) @&

(C) @ieHA 37fon R 52

(D) <HU i i

AT qoTeeAd WRATS eyl o
e

(A) ToaM e
(B) <A R

(C) YRAE TERT
(D) HeEH

GEe IR SATEETHT STe e
........................... %, W,

(A) AREde Y
(B) WRAM IUSA!
(C) THEAY FHTIA
(D) ARAT qA9EH
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54. The President of India addresses | 54 wRar TcgUdl o= S HUNEAT
both the Houses of Parliament . S Hf e
assembled together :

h{dld
(A) During the emergency session
of the Parliament (A) TET SAIhHTEA AT
(B) Every Session (B) T ARREYEM
(C) First Session after each General - . .. R
Election and First Session each (C) WrEBH TSR [aT=A qiee]
year SifeeeE  eTfor SXarsitean ufeed
(D) Any Session EIEENEIR
55. Supremacy of the Constitution (D) SR ATUATE
means :
o 55. FAH Haleadl WS
(A) Constitution is above States
(B) Constitution is above (A) =T B TG ST TR 1S
Government (B) ST B IEATIET SR THTER 378
(C) Constitution is above all . .
e L. o (C) o1 & gd T, guear o
institutions, organisations and
citizens TATRERTAET I TAAER 3T
(D) Constitution is above the (D) AT & TR ST TAER 378
Parliament
, o 56. GOl T WS WA HioRt 2

56. Which of the following is the largest
Committee of the Parliament ? (A) 3T |ffdt
(A) The Estimates Committee (B) Sreeman afadt
(B) The Public Accounts Committee = e

(C) T &iardta IETfasTaeh
(C) Committee on Public Sector
B : i
nterprises
(D) The Committee on Petitions (D) Frfeehifeses Gftdt
21 [P.T.O.



57.

58.

59.

60.

The Council of Ministers hold
office :

(A) During the pleasure of the

President

(B) During the pleasure of the

Speaker
(®)
(D)

For a fixed term of five years

During the pleasure of Prime
Minister

The following word was added
to the Preamble by the 42nd
Amendment :

(A) Secular
(B) Democratic
(C) Republic
(D) Sovereign

According to the Constitution, the
President of India works on the aid
and advice of :

(A) The Vice-President

(B) The Prime Minister and the
Council of Ministers

(C) The Supreme Court of India
(D) The Attorney General of India

Which Article of the Constitution
envisages a Supreme Court ?

(A) 128
(B) 124
(C) 132
(D) 136

57.
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60.
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afHees Sweiwld wRYR |ived ?
(A) Trgudi= sl SrHwd
(B) TlehEWl 3TeAaf=i Hell STqHd
(C) = oufen Ffved wemarEe!
(D) Hagerr=t Hsi SRHaHd
A ATSHTSAT FEATGEE A FeA=4a1

SETTeTehTd Jeiel ITeaT= FHIeY Hvard
el

(A) gHfaE
(B) wrehemal
(C) FeETh
(D) g™

(A) YUt
(B) Uawemd enfor HiHecs
(C) YRA™ Hared A&

(D) YRA™ HeAFeTR]

oo

e Jeaideh] IVl HeTHd Hared

o e

=TT HAfHd=T Seoe oTe ?

(A) 128
(B) 124
(C) 132
(D) 136
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61. One of the key features of | 61. fashmEIcT® YT T Hew@r dfvmea
development administration is E— S
that it : . .
(A) THIAUMHE hrIAE WX
(A) Emphasizes on regulatory work
B) fovasdar W
(B) Emphasizes on rule-bound (B) ’
conduct (C) hglehTumeR 9T
(C) Emphasizes on centralization (D) FEYRTYEMdeR X
(D) Emphasizes on participation 62, T CRGEIGH oo =
62. The New Public Administration TR R 4
advocated : o
(A) FTEIUT M I
(A) Management science approach
: (B) HTA&EAT ST hIHE
(B) Efficiency and economy
(C) Social relevance based ©) 7 .l :
approach D) Wﬁiﬂm
(D) Value neutrality 63. fx frfgs uftdea enfn we AfCH
63. The Minnowbrook Perspective and | H = 3SARN Geiterd
Frank Marini are associated with TR,
the emergence of :
_ . _ (A) FIARILEA
(A) New Public Administration
(B) Development Administration (B) ¢
(C) Scientific Management (C) e AT
(D) Rational Choice Theory (D) faaent frere fagr
64. Which one of the following subfields | 64. WIcicieh! IV ITLEET R e 30T
emphasized on values and ethics ? AfTFaqer R ?
(A) Comparative Public Adminis- (A) TOFTHF SHUITEA
tration
(B) New Public Management (B) AclhHT T
(C) New Public Administration (C) TIHIE
(D) Rational Choice Theory (D) faaent frae fagm
23 [P.T.O.



65.

66.

Which one of the following actions
is indicative of ‘integral’ dimension
in the working of an organization ?
(A) Filing papers

(B) Planning

(C) Staffing

(D) Coordinating

Give the correct answer by using the
correct code given below :

Assertion (A) :

Some scholars have ridiculed
and rejected the principles of
administration as “myths” and

“proverbs”.
Reason (R) :

For almost every principle, one can
find an equally plausible and
acceptable contradictory principles.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

1S not correct

(®)
(D)

65.

66.
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TIATATHET FIUE FAl FEEA=AT
FHTHSA A Yo g w2
(A) HFRHH A
(B) fareH

(C) HHATY AU

(D) "H<

et Hehdleh=l a9 e NPT ST

foer .
fagam™ A)

hTE! AT JRIEAT xSkl
amfor =it S/ FWelgd s hell (0T
¥ & AR

<Rl (R) :

STereasTaed Yoleh dRaTHTe! ATl daed

favaa g 9 WihNE e aw

T

i

(A) (A) 3Tfo1 (R) ® el S0l aRleRk
3T (R) ¥ (A) o RIS SIS
3T

(B) (A) =701 (R) © Sa=991 SieR 3TTed
7 (R) ® (A) ¥ 4T S0
BIH

(C) (A) s=R g 3mfor (R) ek 3R
(D) (A) I 38 W (R) R 3T
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67. Accountability as one of the three | 67. ‘StREIE’ & AKYITHATAT (9 HEOT=]
cardinal principles of Public daiUeh! Teh o< ST ICIRCIEE
Administration iS ensured in NeW ................................. gﬁ @T’ﬁ Gnﬁ
Public Management by : Cn e e

g Y (A) sTfyeRTom=it Sfeseydi
(A) Performing agency’s goods . )
(B) TG qUid: 3Tacied vl
(B) Following procedures in totality .
(C) afReer=a1 3= A qeul
(C) Not obeying orders of superiors .
(D) Grewifer YeTen gEUE <resd
(D) Preventing misuse of public
money 68. T A ¥ smyfTh
AHIMED STAETTS AfeTeeed 38 o/
68. Max Weber identified it as essential
gfqure el
feature of modern bureaucracy :
A) TEETH
(A) Hierarchy &)
B o [ o
(B) Flexibility of rules (B) TEFHIAIE <Tar=Iehe
(C) Patronage (C) s
(D) Personal charisma (D) SIS S

69. The principle that “a subordinate 69. "HTS FHHA THE TXCSHGT A
employee should receive orders from ST, AT Ty ER
one superior only” is known as : FRUTdTd.

(A) Span of Control (A) TTE=om=t e
(B) Unity of Command (B) 3Tl Wehdl
(C) Hierarchy (C) UMM
(D) Delegation (D) Yed 3R
25 [P.T.O.



70. Match List I (Theorists) with List I

(Ideas, Arguments) and select the
correct answer from the codes given

below :
List I (Theorists)
(@) Vincent Ostrom
(b) David Easton
(¢) F.W. Riggs
(d) Mary Parker Follett
List II (Ideas, Arguments)
idea of

(1) Advanced the

‘constructive conflict’
(2) Presented ‘defracted model’
(3) Critiqued bureaucratic model

(4) Conceived of public policy as an

output of the political system
Codes :
(@ ®) @ (@
A @ @ O3 @
B B3 @ @ @
¢ @O 6 @ @
M 2 @ B @

JUN - 15219/1I—A

70. =t 1 (Tagiaes) sufor = 11 (Fehed T,

Ffeqarg) ar=ar A EQA ©dra
Gehdiehi=] TR & AR I 9N

et 1 (Raegiaen)
(a) Rie s
(b) <fwe =
(0 ThE=T o5
(d) A R HicE
arar 11 (Heheur, Ifrare)

(1) faurs Feui=l Hehed ol TERR

el

N0

cndl

(2) forfea wfqumr=i Areoh

(8) Tafercdsr Termal gfaam=T Areot
et

(4) GrESIeh HROT § TS L=l
fTou=it ome, oT°N dhed et

Hehdih :

(@ ®) (@ @
A @ @ O3 @
B B3 @ @ @O
¢ @O 6 @ @
M 2 @ 6 @
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71. Which one of the following is not | 71. —&\" T e ITEHIT Weldas! HITA
a characteristic of new local w R @ 2
governance ?
: (A) S=ies AU RSt TH=IET
(A) Organised on formal and legal
IRl
pattern
(B) Based on the post-bureaucratic (B) HERA=A WA Hehodia
notion of organisation afrenfig
(C) Operate through open networks (C) T Yoq q—{{gﬁ 1
(D) Participation of stakeholders in .
. . P ) (D) foia U3l e Ty
decision-making process
72. Functions discharged by the 72. TS FEAT=AT BT/ R T
Panchayat Raj Institutions fall W ................................. m.
under : (A) 9= ity
(A) the 9th schedule
(B) 1031 GRf3reem
(B) the 10th schedule
(C) 1151 uRf3reem
(C) the 11th schedule
(D) the 12th schedule (D) 12 RIS
73. Article 243 I of the Indian | 73. WINGME TwaweT=al %o 243 1 A+
Constitution provides for the FYMAT TAGE RIS ARG
constitution of : . .
(A) TaEId TS 91
(A) Panchayat Raj Institutions
(B) TAT{eTeht
(B) Municipalities
(C) State Finance Commission (C) T o
(D) State Election Commission (D) T ||5|g11\3|; ST
27 [P.T.O.



74.

75.

76.

Major challenges faced by urban
local governance bodies in India

are :
(@) Financial crunch
(b) Low level of citizens

participation in local bodies
(c)
Codes :
(A) (a) and (b)
(B) () and (c)
(C) (a), (b) and (c)
(D) (a) and (b)

Privatization of public services

How many states in India have

constituted the Lokayukta

institutions ?

(A) 15

(B) 20

(C) 17

D) 19

Lokpal consists of :

(A) 9 members including chair-
person

(B) 8 members including chair-
person

(C) 10 members excluding chair-
person

(D) 7 members excluding chair-
person

75.

76.
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& 3legM 3.
(@) foa=ita =or=o

(b) TATR HEATAA AR 3T
ESERRIRIN

(c) TAhEard BITSITHI
Hehdih

(A) (@) foT (B)

(B) () {01 (c)

(C) (@), (b) =0 (c)
D) (a) T (b)

ARANe fohdl TS TehTger a1 Tt
T hefl TS ?

(A) 15
(B) 20
(C) 17
(D) 19

Bl

(A) FremeEied T% e

(B) sremgHfed 376 Wew=l
(C) sTeaeqied <7 AeeA=
(D) STEAAREE 9[ qewr=

28
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77. Which among the following is not | 77. Wﬁ CIGIGEEIRCAR Th CINLE=D)
the feature of good governance ? T ?
(A) Equitable and inclusive (A) FH=IET ST GHEYTR
(B) Non-responsive and non- (B) smufqdreer omfor wehameran forfed
consensus ©) —— q
(C) Participatory and accountable D) f
D T t
(D) Transparen 78. A& 19 It I S Sireen S[egan ST
78. Match List I with List II and select B fadiea HRaieTqT ATE I
the correct answer from the codes faeer -
given below :
gret 1
List I
(@) G-Il
(@) Good Governance )
. (b) -TREE! TG
(b) Citizen Charter 5
(¢) Ombudsman © S
d) RTE (d) RTE
List II o 1L
(1) People’s defender 1) =7 E®
(2) Equitable and inclusive (2) FEE Ao WA
(3) Empowerment of citizens (3) mTRET Hefefer
(4) Article 21A (4) =aH 21A
Codes : Hehdich
(@ b)) © @ (@ b)) @ (@
A @@ 38 @O @ A 2 & 1 @
B B 2 @ @ B 3 @ @ @
e 1 @ 3 @ o oL @ 3 @
D @ @O 2 3 D @ @O 2 3
29 [P.T.O.



79.

80.

In which Article right to education
is incorporated ?

(A) Article 22

(B) Article 19(2)

(C) Article 21(A)

(D) Article 23

What are the features of MNREGA ?

(@) A person above the age of 14
years is entitled to apply for

work.

(b) Any applicant is entitled to
work within 15 days of his

application.

(¢) It is limited to 100 days per

household per year.

(d) The applicant will be provided
if possible within radius of

5 km.
Codes :

(A) (a), (b) and (d) are incorrect and

(¢) 1s correct

(B) (a) 1s incorrect and (b), (¢) and

(d) are correct

(®)

(a) and (b) are correct and (c)

and (d) are incorrect

(D)

(a), (b) and (d) are correct and

(¢) is incorrect

79.

80.
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Torerumr=n eeh [l HHIART eh[V[cH] shfHId

Hal A ?
(A) e 22
(B) %™ 19(2)
(C) &aH 21(A)
(D) =etH 23

TR (MNREGA) afsrsest &=
aed ?

(@)

IeT aefeiel ekl hIHEES! TSt
FOIE TSR 3R

HITAET ANGR A H A=A
ey 15 feadr wm farae
BHIX 3TTe.

®)

oo e aas 100 feaargias

M THead.
STSIERIE YEIdeR e fohe. STaren

M@ ¥ Qe Sea.

Hehdleh :

(A) (a), (b) U (d) gk 3 70T
(c) SRR TR

(B) (@) T 3R T (b), (¢) 30 (d)
S 3T

(C) (a) T (b) SR TG AT (¢) A0
(d) 9T 3R

D) (@), (b) A (d) TSR Aga (0T
(c) Tk 38

(c)

(d)
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81.

82.

Which of the following statements

is not correct ?

(A) Military capability is a tangible

element of National power.

(B) The quality of leadership can

improve the power of a state.

(C) Demographic indicators are
important for understanding

the power of a state.

(D) Geography is an element of soft

power of a state.

Which of the following statements
is not correct about Paris agreement
on Climate Change 2015 ?

(A) It has determined uniform
target of emission reduction for

all countries.

(B) It has asked countries to
determine their own emission

reduction targets.

(C) It relies on the principle of
differential of

developed and underdeveloped

treatment

countries for emission targets.

(D) It has made a detailed time-
table for emission reduction for

all countries.

81.

82.
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Greffeien] Hv foe seR T ?

(A) TRl &A1 81 AT T HISHY
HIA AU EH IR

(B) A=Al UEHes Tsar=Al ekt
@ TS Iehd.

N o

(C) dRgEa A

Sy W ST

T HHSH HUAHIE! SA9Ieh ST
(D) e & q= §uel Sk ST

ATATEL0 SeATasR= 2015=a1 4RH

FUTHS e ©ITeATerdsht shivrad faem

TSR ATE ?

(A) TIER §d IO IS R
I g 3w i oTR.

(B) {ER §d I IS HH]
FHLOAT T SfEse SLATATH
AFR ATR.

(C) ER faesrfaa 9 fomaasia qem

(o o [a NN ha¥ o [
SCASTT enH[ U] ool SIgSe

At TR
(D) TTER ¥d IIMEE IS A

HOI JedlToeh fool 7.

31
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83.

84.

Which of the following is an
incentive behind the Look East

Policy of India ?
(A) Weapons purchases
(B) Quest for energy security

(C) To build relations to counter

China-Pak axis

(D) Dominate the Indian Ocean

Which of the following regional
trade groups have lowest percentage

of intra-regional trade ?

(A) SAFTA (South Asian Free

Trade Association)

(B) NAFTA (North Atlantic Free

Trade Association

(C) EU (European Union)

(D) ASEAN (Association of South-

East Asian Nations)
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IRATAT JAifaE SRl 3Ws QORI

Sk WoileTdeh! iUl 3T ?
(A) IS ©ET

(B) TSl GR&=T WSgdE

(C) I-IfhEd™ ST&TTeT STR SUaATdTS

oY FURO

(D) &t HeEmNER o= a0

ETATTdeh! ShIOTeAT YIef¥Teh MR T

TAYRINTT SAUNE GHIOT §aid Al

AR ?

(A) ¥ (a0 e go =R

TEEAT)

(B) Al (3T FecAifesdh T AR
TEEAT)
(C) g (|I= Tere)

(D) NfEa™ (AT STi¥mEmRt I

)
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85.

86.

Which of the following principles of
the WTO applies specifically to the

developing countries ?

(A) Special and differential
treatment

(B) Reciprocity and non-
discrimination

(C) Predictability through
transparency

(D) Equal treatment to locally

produced and foreign goods

Which of the following statements

is correct ?

(A) World system theory believes
that anarchic international
system is the root cause of

conflict.

(B) Structural realism believes that
human nature is the root cause

of conflict.

(C) Realist theory of International
Relations draws inspiration

from Hobbes’ thought

85.
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SMfdeh SR FoeAd qeiadehl hIvd
T foeiea: faeR

q S Y ?
(A) s sufor oFredt arTR

(B) TERAT U1 SgYEmn 314

(C) IR IS IauaTSi

(D) T ofoT WRQEM SR FHA
ST

EATTUeh! iU fIgM sRieX e ?

(A) Sifass sggwen fagrar=ar #q
SISTh! STAWSLT HILT § Foud
a3 .

(B) S{EATcHe dRddRr=a Ad Al

QYE T 6 EEE o e

(C) AW HI Tl ArEqdarg]
fagrart ATon glesrean faamid
T

(D) Constructivism analyses the . N e m
) ) (D) T=AMERE AT Tl Tl
core and periphery in
International Relations. anfor ufter == faseAsor .
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87.

88.

Which of the following pairs is not

matched correctly ?
List I
(@)
®)
(c)
(d)

Balance of power
Deterrence
Collective security
UN peace keeping
List II

@)
(@)
(ti1)
@iv)
(A)
(B)

Making alliances
Nuclear weapons
Isolating the aggressor
War with the aggressor
(a-1)

(b—ii)

(C) (c-iii)
(D) (d-iv)

Which of the following are forced

migrants ?

(A)

Mexicans crossing the border to
enter the US

(B) Sri Lankan Tamils living in

camps in Tamil Nadu
(©)
(D)

Indian workers in Saudi Arabia

Pakistani workers in UAE

87.

88.

JUN - 15219/1I—A

TTeATeTdehl RO SIS e eda

et AT ?
EIC |

(@) @ HHAA

(b) wEA

(c) WHfeh Feam

(d) FIFa TSI Maar &0 HEd
Trdt 11

TS IO

@)
(i) 3T

(iif) SHYHRIAT Tehe TS
(fv) STHARRIT Y HI
(A) (a-1)

(B) (b-iz)

(C) (c-ii)
(D) (d-w)

@eieTieh! hIUd oileh T T

HIOR e ?
(A) € Sfers SHiehd

JUR AR

ALY TR

oo

(B) diHaredean ffd
et afes
(C) Rl sRiTanial WRdE HHIR

(D) T WS R arfereart
FHTTR
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89. A new model of public sector | 89. 1990 H&d ITAW 2Teie!  WESITeh &I
management which emerged in e’ T A9 gfaum I AemE
1990s is known also as : Bl S
(A) Managerialism (A) HIEAITE
(B) Market-based public adminis- (B) SN ARIITE

tration ~ .
(C) A=EEIh 3ESleh UM AN
(C) Entrepreneurial government
(D) a &6 94
(D) All of the above < .
90. WeeTeh! IV SIST RGO S[eaeie]

90. Which of the following pairs is not T 2

matched correctly ? .
w9 1
Column I '
.. (@) et fagia

(@) Critical Theory

. (b) dATEIadg
(b) Realism

STfae e fagm

(¢) World System Theory ©
(d) Social Constructivism (d) WIS e

Column II a1
() Regime, Institutions @) ’
(i1) Interests, Power @) Te g, '
(ziz) Core, Periphery (i) %3, TR
(tv) Norms, Values (iv) Fhd, T
(A) (a—i) (A) (a-0)
(B) ®-i0) B) b-1i)
(C) (c—iid) (C) (c—iid)
(D) (d-iv) (D) (d-iv)
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91.

92.

Which of the following is an element

of India’s ‘Look East’ Policy ?

(A) Nuclear co-operation treaty

with ASEAN countries

(B) Co-operation with ASEAN
countries on South China Sea
disputes

(C) Promoting Democracy in

ASEAN countries

(D) Free Trade Agreement with

ASEAN countries

Among the following regional
groups, which has signed a Free

Trade Agreement with India ?

(A)

European Union

(B)

Association of South-East Asian

Nations

(C) Shanghai Co-operation

Organisation

(D) Gulf Co-operation Council

91.

92.

JUN - 15219/1I—A

TCATUshT ShIVIdT F2eh TRATeAT Jaif e

T GRUTET T o2 A 7

(A) MfEaE YN Afvaeh e

(B) ST <emeh Sfaor =i Sgge

EEIMER:EER]

(C) TEaM <M AhemR= IR

(D) enfaam el EeA SATIRE

X

ETATTUeh! ShIvTcT &5 T WRATSRIs

G HMNE FAR hell 3R ?

(A) U TRrEH

(B) MM (ST=I- 3Ty 9=t
T

(C) M&MT TEht™E TEEAT

(D) % TghE TES
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93.

94.

Which of the following is not

an element of India-Russia

co-operation ?

(A)

Joint ventures in weapons

production

(B)

Joint ventures in exploration

of natural gas

©)

Joint ventures in sea-bed

exploration

(D) Nuclear partnership

Which of the following statements

is true ?

(A) Indus Water Treaty created the

Permanent Indus Commission.

(B) Indus Water Treaty gave the
control of three ‘eastern’ rivers

(Beas, Ravi, Sutlej) to Pakistan.

(C) Indus Water Treaty appointed
an international mediator for
resolving water disputes

between India and Pakistan.

(D) Indus Water Treaty appointed
a third party arbitrator to
resolve water disputes between

India and Pakistan.

93.

94.
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ST TeTdsh! ShIOTAT SEeh  MTdq-FTan

TERTIE ek AATEr 2

[Nl X JlaY

(A) e Hfde g SuwA

(B) 7afifer = Sium= W SUHA
(C) 9F Toor=A Siemel W SUshH

(D) aTfUaer 9rferRt

@eileldehl ivd oo™ sel 3T ?

(A) fdy doieey FRRH HETEE
iy & (Indus Commission)
foefor .

(B) T4y uffered iRA qedhera q4

TJai=a (faermw, U, Faaw)

qiferedmen e

(C) fae uroftared &UWR  9IRA-

RIETSIEININIS KICEIHE M ERE T
FHLOIEES] HEAEY THA

(D) fag wroftared &UUA EIRA-

EN BN G IS GIEEIHERRELETY

FLOITHES e THAT
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95.

96.

97.

Which one of the following is not
a principle of India’s Nuclear

Doctrine ?

(A) Non-proliferation of nuclear

technology

(B) Minimum Credible Deterrence

(®)

No First use of Nuclear

Weapons

(D) No use of nuclear weapons

against non-nuclear states

In which year did India host and
chair the summit of the non-aligned

movement ?
(A) 1983
(B) 1979
(C) 1976
(D) 1986

Which of the following terrorist
groups is not banned by Government
of India ?

(A) Abu Sayyaf Group
(B) Babbar Khalsa International

(C) Communist Party of India
(Maoist)

(D) Hizb-ul-Mujahideen

95.

96.

97.

JUN - 15219/1I—A

WTATAUh] ShIUd dxa YR 3fUeeh

Sffrea ad & ?
(A) ST TR iy

(B) foam favama® swiem

(C) SUIE= 99 a9 S0l

(D) ATILHLTY AT 2yNfasg

SIS IR T )

et wefrg e
(AT ) Sesdesren fIRer uftuew
ISHAYG S0 TAYFIS Yoacd ?

A H10TeT

(A) 1983
(B) 1979
(C) 1976
(D) 1986

WeATeTUeh! v CETaaTe! TeE). HRd
TWHRA ] Hacel] Arer ?

(A) 3T FETH T

(B) SR WAH $THIMA
(C) 9Rd™ e 9 (HIsiEmnR!)
(D) feso-3a-genfedH

38



98.

99.

100.

‘Chakmas’ are the migrants in India
who have come from :

(A) Bangladesh
(B) Myanmar
(C) Bhutan
(D) Nepal

Who the
‘founding fathers’ of the non-aligned

are regarded as

movement ?

(A) Nehru, Nasser, Sukarno

(B) Nehru, Tito, Sukarno

(C) Nehru, Nasser, Tito

(D) Nehru, Sukarno, Ho Chi Minh
Assertion (A) :

India-Vietnam friendship dates back
to Cold War period.

Reason (R) :

Vietnam has supported India’s bid
for UN Security Council permanent
membership.

Codes :
(A) (A) is true, (R) is not true
(B) (A) is not true, (R) is true

(C) Both (A) and (R) are true, but
(R) is not a cause of (A)

(D) Both (A) and (R) are true and
(R) is a cause of (A)

98.

99.

100.
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‘THAT’ TR R
I QM 3T

(A) STerRw

(B) ¥=THR

(C) Har

(D) 93

TefRUY Fosaesd (Sfaadas! waes)

RICTFR. T Wed S ?
(A) 78E, TR, FoH

(B) T&&, fe2i, g

(C) 7%, T, fe

(D) w&&, g, & o =
fagm (A) :

IR - feguaam #3f Sfagsr= sreardrgA
ST a1

T (R) :

T oA GIE qieeea sEH
a ~ .

YIS YRA hd STHAHT T

EAGRICEIRCICE I

S
(A) (A) SR TR, (R) IH 3R
(B) (A) I 318, (R) SR R

(C) (A) 371 (R) Sel sRieR 3TTed, 90T
(R) ® (A) = &N &

D) (A) 377 (R) St SIeR 37, ST
(R) ® (A) ¥ R 2T
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ROUGH WORK
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